118713285, SHEET 1 OF 1 - INSTALLATION INSTRUCTIONS, 90 DEG EQUIPMENT BRACKET, CUBE IT CABINET - 1:5 - 11/03/2017 - ISS. 2 - CPI/B KRIETZMAN

TOOLS REQUIRED

#2 Screwdriver or 5/16" Nut driver

INSTALLATION

1. Mount each bracket to the raised bosses on the cabinet rear panel using four

10-32 x 5/16" hex head screws. Note the left and right hand orientation of the
brackets.

Left bracket \

10-32 x 5/16 , e
e 4l
d ﬁ " ‘_‘-‘; -
=y ﬁ

Vi g~

PARTS INCLUDED SHEET 1

10-32 X 5/16 Hex head screw @
Qty 5

Bracket, left
Qty 1

Bracket, right
Qty1

7Mounting bosses

/Right bracket

/Cabinet rear panel

EI CHATSWORTH PRODUCTS, INE.

800-834-4969 techsupport@chatsworth.com www.chatsworth.com

INSTALLATION INSTRUCTIONS,
90 DEG EQUIPMENT BRACKET,

CUBE IT CABINET

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO
CHATSWORTH PRODUCTS, INC. ANY REPRODUCTION DISCLOSURE
OR USE OF THIS DRAWING IS EXPRESSLY FORBIDDEN EXCEPT

AS AGREED TO IN WRITING BY CHATSWORTH PRODUCTS, INC.




